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QUESTION 1

View the Exhibit to examine the output produced by the following query at three different times since the database
instance started and has undergone workloads of different capacities:

SQL> SELECT substr(component, 0,10) COMP, current_size CS, user_specified_size US FROM
v$émemory_dynamic_components

WHERE current_size!=0;

shared poo SBTZ0E256 i
large pool 4124304 o
Java pool 4194304 o
2EA Target 178le07 a8 o
DEFAULT bu 10066329 a
Shared IO Bz28 2388608
Pzi Target 1174 0
& rowa oocloocted. o

Becond esxecution: \ 4

COME ( 3 [}5]
shared puu o J87Z0Z58 O
large pool 4134304 O
Jjava pool & 4194304 a
G54 Target \ 182537584 0
DEFAULT hbu 11744pD512 o
fhared IO B28B608 B388608
PizA Yargst e lODEB3IZRE o
& rows selected 0

Third executio

CCME 3

62514560

shared poo

What do you infer from this?

A. The database instance is running with manual PGA management.

B. The database instance is running with manual shared memory management.

C. The database instance has the MEMORY_TARGET value set to a nonzero value.

D. All sessions are connected to the database instance in dedicated mode, and no RMAN or parallel query operations
have been performed.
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Correct Answer: C

QUESTION 2

You are working on a CATDB database that contains an Oracle Database version 11.1 catalog schema owned by the
userRCO11. The INST1 database contains an Oracle Database version 10.1 catalog schema owned by the user
RCAT10.

You want the RMAN to import metadata for database IDs 1423241 and 1423242, registered in RCAT10, into the
recover catalog owned by RCO11. You also want to deregister them from the catalog after import.

You executed the following commands to achieve this:

RMAN> CONNECT CATALOG rcol 1/password@catdb

RMAN> IMPORT CATALOG rcatl O/oracle@instl DBID=1423241,1423242;

What happens if the RC011 catalog has scripts with the same name as that of the scripts in RCAT10 catalog?
A. The scripts in the RC011 catalog are overwritten.

B. RMAN renames the local stored scripts in the RC011 catalog.

C. The RMAN session in which the command is executed aborts.

D. RMAN renames the global scripts that are imported from the RCAT10 catalog.

Correct Answer: D

QUESTION 3

Which statements are true regarding table compression? (Choose all that apply.)
A. It requires uncompress operation during I/O.

B. It saves disk space and reduces memory usage.

C. It saves disk space but has no effect on memory usage.

D. It incurs extra CPU overhead during DML but not direct loading operations.

E. It incurs extra CPU overhead during DML as well as direct loading operations.

Correct Answer: BE

QUESTION 4
SQL> EXECUTE

DBMS_WORKLOAD_REPOSITORY.CREATE_BASELINE_TEMPLATE(START_TI ME=>
TO_TIMESTAMP(SYSDATE+2),
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END_TIME=>TO_TIMESTAMP(SYSDATE+10),

BASELINE_NAME=>\\'Mybase4\\'

TEMPLATE_NAME=>\\'Mytemp4l,

EXPIRATION=>NULL);

Which statement is true about the effect of the above command?

A. It creates a baseline template that never expires.

B. It produces an error because no snapshot information is provided to create the baseline.

C. It creates a baseline template that expires after the Automatic Workload Repository (AWR) retention period.

D. It creates a repeating baseline template that repeats after the Automatic Workload Repository (AWR) retention
period.

Correct Answer: A

QUESTION 5

Which statements are true regarding SecureFile LOBs? (Choose all that apply.)

A. The amount of undo retained is user controlled.

B. SecureFile LOBs can be used only for nonpartitioned tables.

C. Fragmentation is minimized by using variable-sized chunks dynamically.

D. SecureFile encryption allows for random reads and writes of the encrypted data.

E. It automatically detects duplicate LOB data and conserves space by storing only one copy.

Correct Answer: CD
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